CAMEL HAI




Size: 10/12 (14/16) UK
Size: 6/8 (10/12) USA
Size: 36/38 (40/42) EU

NOTE: Figures in brackets () refer to larger size.
Where only one figure is given this refers to both sizes.
Skill Level: intermediate

How much yarn: g 850 (950) of Camel Hair yarn,
in dark grey shade no. 5406

Needles: Pair of 4.00 mm (no. 8) knitting needles
Sewing needle: Yarn needle with rounded point
Other items: Four stitch-markers

STITCHES
Using needles: tubular stitch - K2, P2 rib.

TENSION
28 sts and 40 rows measure 10 cm square over K2, P2 rib
with 4.00 mm (no. 8) needles.

INSTRUCTIONS

Front: work sideways, starting from left sleeve. With 4.00
mm (no. 8) needles cast on 66 (70) sts and work
6 rows in tubular st (= 0,5 cm). Cont to work in K2, P2 rib.

When work measures 67 (70) cm from beg, on LH (left
hand) side cast on 116 (124) new sts, and on RH (right
hand) side, shape shoulder increasing 1 st every other
row 5 (7) times and every following 4th row 5 times.
There are 192 (206) sts. Place a stitch-marker on RH side,
after last increased st, for neckedge beg. Work straight for
other 34 (36) cm. Place another stitch-marker on RH
side, for neckedge end. Shape shoulder, decreasing 1 st
every 4th row 5 times and every following other row
5 (7) times. Then, on LH side, cast off 116 (124) sts:
66 (70) sts remain. For other sleeve work straight 66,5
(69,5) cm more. Work 6 rows in tubular st (= 0,5 cm) and
cast off, by grafting sts.

Back: work as Front, but starting from right sleeve.

Collar: with 4.00mm (no. 8) needles, cast on 54 (58) sts
and work in K2, P2 rib for 68 (72) cm. Cast off all sts.

FINISHING

With yarn needle, join Front and Back: sew shoulder,
sleeve and side seams. At bottom of each sleeve reverse
20cm on right side of work for cuff. Join cast-on and
cast-off sts of collar to form a ring. Sew collar all around
neckedge, placing seam at centre of Back.
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